01 12 25

G

17,524 15,724 0| 1,800 0 10.27
R2 R6
S49 HI2 H16 2,000 1,600
549,H12,H16 2400 2100
21 100

0000604856




R02 |R03 [R04 [ROS5 [RO6
A03-001 - n n n n n 1,070 |1.29
A03-002 - [ B BN AN B ] 90 |8.06
A03-003 - [ I B A B | 330 (4.95
A03-004 - [ B BN AN B ] 365 (3.1
A03-005 - [ I B B BN 210 |38.43

1 0000604856




R02 |R03 [R04 [ROS5 [RO6

A03-006 [ I B A B | 268 (14.9
A03-007 [ N BN BN B | 330 (26.95
A03-008 [ I B A B | 993 (1.85
A03-009 [ B BN AN B ] 356 [1.42
A03-010 [ I B A B | 863 [54.5

0000604856




R02 |R03 [R04 [ROS5 [RO6

A03-011 [ I B A B | 360 (33.62
A03-012 [ BN BN B B 813 |27.3
A03-013 [ I B A B | 250 (25.04
A03-014 [ BN BN B B 120 1.11
A03-015 [ I B A B | 340 |5.6

0000604856




R02 |R03 [R04 [ROS5 [RO6

[ 1] e
A08-016 ] ] ] ] ] 1,062 |5.07
A08-017 ] ] ] ] ] 1,490 (1.33
A08-018 [ BN BN B B 381(1.82
A08-019 [ BN BN B B 230 |3.75
A08-020 [ BN BN B B 268 |2.25
A08-021 [ BN BN B B 256 |5.06

0000604856




R02 |R03 [R04 [ROS5 [RO6

A08-022 [ B BN B B 315 (8.2
A08-023 [ B BN B B 590 |12.91
A08-024 [ B BN B B 90 |-
N see2| |
A03-025 ] ] ] u ] 950 (2.7
N so| |
A08-026 L=400m | I | 40

0000604856




R02 |R03 [R04 [ROS5 [RO6

A08-027 L=100m ] 20
A08-028 L=4000m " == 872
A08-029 L=1000m " == 220
A08-030 L=600m " | = 150
A08-031 L=260m " == 60
A08-032 L=300m ] 166

0000604856




R02 |R03 [R04 [ROS5 [RO6

A08-033 L=1800 LI B 440
A08-034 L=250m LI B 120
A08-035 L=50m u 12
A08-036 L=30m u 10
A08-037 L=20m u 4
A08-038 L=500m "= 190

0000604856




R02 |R03 [R04 [ROS5 [RO6

[T T T wm]
[T T T ®m ]

0000604856




R02 |R03 [R04 [ROS5 [RO6

206001 cTa s [=]=] sow
408.25 14
| | | L] oo |
| | [ [ [ ] oo |
| | | L] |
| | [ [ [ ] [ |
| | | L] |
| | [ [ [ ] [ |
| | | L] |

0000604856




RO2 RO3 RO4 RO5
@ 2,494 1,147 1,060 858
(b) 0 0 0 0
(c=atb) 2,494 1,147 1,060 858
@ 1,611 1,990 976 886
e) 2,115 2,161 1,150 1,109
) 1,990 976 886 635
@ 1,575 482 344 111
(h = ct+d-e-f) 0 0 0 0
(i = (g+h)/(c+d)) 38.36 15.36 16.89 6.36
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